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1, HFHIE:

@ BLREFAR:

B4y 0.1g B4R, MIN TmL BEUK, BHTIKASR, 4°Cx12000rpm B+ Smin, ELE

5, Bk,

[iE]: BENEAE, TRREARRE (9) @ BEBRARMLA 1: 5~10 BIELHIHITIE
B,

Q@ HE/ AR

SRR AREIE OER, BORFLE, B 500 HHEEEAIEIIN TmL

REGK, EEKKEMESAE (KE, ThE 200W, #&FE 3s, @k 10s, 5 30 IX) ;

12000rpm 4°CEit> 10min, BULEE, Bk .

[iE]: SEIFAR, FIRRAE/AREE (104) : EEUK (ML) 500~1000: 1 AIEE
BTN,

@ RAEAR: EBERRATERAN, SFRNELER SRR,
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@ BEBFR(FTH 30min, REKIKE 562nm,
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FORES, BEER 15minfma, HERNE 3000rpm B O 5min &, B

200pL EBRZE 96 FLIRT, T RK 562nm A BEEEZFERIKLE Ao
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1, ERAARKRSITE:

T2 E(ug/9)=(C tREXV)x(A WE-A TH)+(A fRE-A ZH)+(V1-VxW)xD
=2x(A WE-A Z=H)+(A fRfE-A =H) +WxD

Tk E(nmol/g)=(C tRiEXVT)x(A WE-A ZH)+(A tREA ZH)+(V1+VxW) x103
+MrxD

=35.81x(A WE-A =H)+(A fuE-A =H) +WxD

2, IRASITE:

TPk E(ug/104 cell)=(C fREXV1)x(A ME-A =H)+(A fuE-A =H)+(V1-Vx4hiE
#E) <D

=2x(A WE-A =H)+(A trEE-A =0) ~AREE

ek E(nmol/104 cell)=(C FREXVT)x(A WUE-A Z=H)+(A FuE-A TH)+(V1+Vx4H
BIEEE) x103+MrxD

=35.81x(A WE-A =A)+(A tuE-A =A) ~MHEEHE=D

3. ERRIBARITE:

TPEREE(Mg/mL)=(C FREXVT)x(A WE-A Z=H)+(A fRfE-A Z=H)+V1xD
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mEAED X KX N & N O# B OB M

=2x(A WE-A =H)+(A tRE-A =H)xD

A& (umol/L)=(C fREXVT)x(A E-A =H)+(A fRE-A Z=H)+V1x103+MrxD
=35.81x(A WE-A =H)+(A tRE-A =H)xD

C tfE---TEkinmmiRE, 2ug/mL;  V1---IONEEAAFR, 0.06mL;

V---1REGRIAR, 1mL;  W---FABERE, g;

D---FERRMSEL, RERREIA 1, Mr---TIkssF&, 55.847,
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